Grammar, Style, and Usage in JHCPU
grammar (and Spelling)
Here are some points of grammar that often arise for people writing articles for possible publication in JHCPU:

E.g. vs. i.e. = For example vs. that is
· The abbreviation e.g. stands for the Latin phrase exempli gratia or, in English, for example.

· The abbreviation i.e. stands for id est or, in English, that is or in other words.

· Don’t mix these two up.
· Both e.g. and i.e. must be followed by a comma: e.g., It must be novel (i.e., new). 
Infinitive verbs: Don’t split up the two parts
FYI: There are two infinitive verbs appearing in the example sentence below: to build and to produce.  

· Yes:
The Program demonstrated the feasibility of neighborhoods working with community-based organizations and universities to build a foundation for culturally relevant initiatives to produce positive health improvements in communities effectively. 

· No: The Program demonstrated the feasibility of neighborhoods working with community-based organizations and universities to build a foundation for culturally relevant initiatives to effectively produce positive health improvements in communities.
· The problem with the second example is that an adverb (effectively) appears between one part of the verb (to) and the other part (produce).

Pap Tests

"Pap" is short for the name "Papanicolaou" and, therefore, should be capitalized.

Semi-Colons

The relevant rule is that semi-colons separate two complete sentences, not a sentence and a phrase or incomplete sentence. (They can also be used to separate other types of phrases—see immediately below— but they must all be of the same type: e.g., all noun phrases.) For example:

· Correct: The students were cooperative; none of them had experienced difficulties with the first assignment. 

· Incorrect [because the material after the semi-colon is not a complete sentence, though the material preceding the semi-colon is a sentence]: The students were cooperative; willing to continue working after class had officially ended.

· Incorrect [because two sentence are run together without a semi-colon]: The students were cooperative none of them had experienced difficulties with the first assignment.

In the following example, it is correct to use parentheses rather than a semi-colon: the material after the semi-colon in the incorrect example is not a complete sentence, but the material before it is a complete sentence.
· Correct: However, the main source of health insurance coverage among Americans, employment-based health insurance, continues to decline, dropping from 59.8% in 2004 to 55.8% in 2009 (the lowest percentage since 1987).
· Incorrect: However, the main source of health insurance coverage among Americans, employment-based health insurance, continues to decline, dropping from 59.8% in 2004 to 55.8% in 2009; the lowest percentage since 1987.
Semi-Colons (again): Use semi-colons to separate complex conjuncts

When a series of phrases are joined together — and one or more of those smaller phrases includes a comma — they should be separated by semi-colons:

· JHCPU: 
We strove to distinguish among people with low incomes, little education, or no job; people with a lot of money; and people with good prospects for future income, given their current status as students.

· Not: 
We strove to distinguish among people with low incomes, little education, or no job, people with a lot of money, and people with good prospects for future income, given their current status as students.

Style
Some points are specific to the journal you are writing for. You must look at the journal’s style sheet and/or example articles to find out what style they follow.  Here are a couple of examples of stylistic rules at JHCPU:

Compound Names for Races/Ethnicities: African American vs. African-American

For simplicity’s sake JHCPU uses African American in all positions in a sentence, rather than alternating between African-American for adjectives before nouns and African American for nouns.

· JHCPU:

Three African American children remained in the room.  

· Not:

Three African-American children remained in the room.

· So, when in doubt: use African American (and you can be sure this is always correct in JHCPU). The same goes for Irish American and Mexican American and other similar phrases.

Names of Races/Ethnicities

JHCPU's style is to capitalize Black and White and Native when they refer to racial groups. Other journals may differ.  Look at the journal’s style sheet and/or example papers to determine what conventions it follows.

The Oxford comma

JHCPU uses a comma before the conjunction in a series of three or more. (Such a mark is called the Oxford comma.)

JHCPU:

There are bears, tigers, and antelope in the park.

Rather than: 
There are bears, tigers and antelope in the park.

Percentages:
We use the symbol %:

· JHCPU: 
We found that only 15% returned.

· Not: 

We found that only 15 percent returned, or 

We found that only fifteen percent returned.

Exception: Like abbreviations, numerals and the word percent must be spelled out when they occur as the first word in a sentence:

· JHCPU:

Fifteen percent returned.
· Not:

15% returned.
and

· JHCPU:

Twenty-five people remained.
· Not:

25 people remained.

and

· JHCPU:

Centers for Disease Control and Prevention personnel assisted us.  

· Not:

CDC personnel assisted us.
Probability

JHCPU does not use a pre-decimal zero (and does not italicize the p) when reporting probability:

· JHCPU:

p≤.01

· Not:

p≤0.01

Reference markers: Place reference markers in the text outside any adjacent punctuation
JHCPU place reference markers outside any adjacent punctuation:

· Yes: 
This is developed further in Brown12 and Smith.13
· No: 
This is developed further in Brown12 and Smith13.
References

· In the text, refer to each reference with an Arabic number in superscript, without parentheses.  Number references consecutively and list the full citations at the end of the text (under the heading References).

· List all authors of cited works when there are three or fewer. Otherwise, list the first three, then et al.

· Use the formats defined in detail in our Information for Authors, based on Index Medicus/PubMed styles.

· Please note: JHCPU accepts Internet urls only as supplementary information.  All references must include specification of the published source in the format described above.  After a period ending that print citation, a new sentence reading “Available at…” where “… is replaced by the Internet address, may be added.  In cases where the printed version is inaccessible, provide a citation modeled on those for print citations (supply the information referred to by words in capital letters here):

AUTHOR. TITLE of work being cited. LOCATION of organization/publication: ORGANIZATION/PUBLICATION posting the work being cited, YEAR posted. Available at…URL HERE. 
There is no need to say when the author last visited the Web site.
· Please note: We prefer that authors do not embed references using automatic reference numbering programs. However, authors may want to use such a program while working on their papers (and only at the end convert them to simple text. RefWorks (but not EndNote) includes the JHCPU/Index Medicus/PubMed citation style.

Spelling out Acronyms

Upon the first use of an acronym in a paper, it must be spelled out, with the acronym provided in parentheses:

· JHCPU:

This belonged to the National Institutes of Health (NIH).

· Not:

This belonged to NIH.
Thereafter, use the abbreviated form (unless it appears sentence-initially — see below).

Spelling out numbers vs. using numerals

JHCPU style is to spell out numerals up through nine and to use numeric forms for the rest (10 and higher). 

Exception: it’s OK to use numerals for everything when reporting measures or statistical results inside parentheses.

Spelling out sentence-initial material
As noted earlier, JHCPU spells out material appearing at the beginning of a sentence. 

Abbreviations, numerals, and the word percent must be spelled out when they occur as the first word in a sentence:

· JHCPU:

Fifteen percent returned.
· Not:

15% returned.

and

· JHCPU:

Twenty-five people remained.

· Not:

25 people remained.
and

· JHCPU:

Centers for Disease Control and Prevention personnel assisted us.  

· Not:

CDC personnel assisted us. 
Spelling out words out rather than using typographic abbreviations

In general, JHCPU uses spelled out words rather than typographic abbreviations.

For example, we spell out the word and rather than using &:

· JHCPU: 

Students and faculty assisted us.
· Not:
 
Students & faculty assisted us.
There are cases where we use the typographic abbreviation, however:

· JHCPU: 

It cost $10 million.
· Not:
 
It cost 10 million dollars.
When in doubt, spell it out.
Usage

Avoid Jargon
Don’t use the noun partner as a verb:

· Yes: Neighborhoods demonstrated the feasibility of working with community-based organizations.

· No: Neighborhoods demonstrated the feasibility of partnering with community-based organizations.

· (But it’s fine to use partner as a noun: His partner left first.)

Don’t use the noun impact as a verb:

· Yes: This can affect survival rates for breast cancer.

· No: This can impact survival rates for breast cancer.

· (But it’s fine to use impact as a noun: The impact was profound.)

Don’t use jargon such as buy-in:

· Yes: It was important to secure commitment to the project from all of the participants.

· No: It was important to secure buy-in for the project from all of the participants.

Comparisons

Compare X with Y

· "Compare to" means to point out similarities (e.g., He compared her to a summer's day...) 

· while "compare with" means to draw a comparison (e.g., He compared the heights of the men with the heights of the women). 

· In social sciences, almost always, the correct construction is "compare with."

Differ from 

· One thing may be said to “differ from” another thing. It is not “different to” another thing” or “different than” another thing.

· On the other hand, I am “taller than” my sister, not “taller from” her….

Comprise vs. constitute vs. consist of
"To comprise" means "to consist of." 

· Correct:
The group comprises three men and two women.
· Correct:
The group consists of three men and two women.
· Incorrect:  
Three men and two women comprise the group.
· Another example: 

· correct: Johnson County is the largest of the four counties constituting the Upper Valley along the Montana -Canada border and has an estimated population of 10,000 according to Census 2010
· incorrect: Johnson County is the largest of four counties comprising the Upper Valley along the Montana-Canada border and has an estimated population of 10,000 according to Census 2010
Disparities

The word "disparities" is a relational one: Hispanics (or any other group) can only experience disparities in comparison with another group: There is a disparity between the rate for group X and the rate for group Y.  Group X can't simply experience a disparity, and more than John can simply be taller (with no other person or height being named or understood). 

� This is because taller is a comparative adjective (tall+-er meaning more) while differ is a verb (the –er is not a suffix in differ). Notice that you can form the superlative tallest but not *diffest. This demonstrates that diff is not a root word the way tall is.








